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Problems 

.-\n ideal voltage source is described by the 1.7 Consider the circuit shown in Fig. P1.7. (a) 
n vet) = 10e - V. Find the value of this volt­ Given i l = 4 A, find VI' (b) Given i2 = - 2 A, find I 

urce when (a) t = 0 s, (b) t = 1 s, (c) t = 2 V2' (c) Given i3 = 2 A, find V3 ' (d) Given i4 = 

_ i = 3 s, (e) t = 4 s . -2 A, find V4' 

. -\n ideal voltage source is described by the 

on v(t) = 5 sin (TI/2)t V. Find the value of this SD lD 
5C source when (a) t = 0 s, (b) t = 1 s, + 

l" I I'-l 
o = 2 s, (d) t = 3 s, and (e) t = 4 s. 

+ 
.-\n ideal voltage source is described by the Vs 4D I', 3D "3_ re ­

'on vet) = 3 cos (TI/2)t V. Find the value of this +- ce ge source when (a) t = 0 s, (b) t = 1 s, d I-'~ 
o = 2 s, (d) t = 3 s, and (e) t = 4 s. 


-gors Fig. P1.7 

Find the current in a region when the total 

- the - -ge in the region is described by the function 

. 1) = 4e- 21 C, (b) q(t) = 3 sin TIt C, (c) q(t) = 
 1.8 Consider the circuit in Fig. P1.7. (a) Given 

27ft C, and (d) q(t) = Se -41 cos 3t C.~ r~ is ­ VI = 30 V, find il' (b) Given V2 = 12 V, find i2 · 

idual 5 An ideal voltage source is described by the (c) Given V3 = -9 Y, find i3 . Cd) Given V4 = -3 V, 

-;::! ion shown in Fig. Pl.5. Find the value of this find i4 . 

ge source when (a) t = 0 s, (b) t = 1 s, 1.9 Consider the circuit shown in Fig. P1.7. (a) 
~ C ID-	 _ 1 = 2 s, (d) t = 3 s, and (e) t = 4 s. Given VI = -10 Y, find i l' (b) Given i2 = 1 A, find 

V2' (c) Given V3 = 3 Y, find i3. (d) Given i4 = 1 A, 

find V4 ' 
u into 


lIel 


1 	

1.10 Consider the circuit in Fig. Pl.lO. (a) Given 
4 	 VI = - 6 V, find i l ' (b) Given V2 = 24 Y, find i2 . (c) 

Given V 3 = 11 Y, find i3. Cd) Given V4 = 21 Y, find-

i4. (e) Given Vs = -14 Y, find is. 
_ dent 

g . P1.5 
1.11 Consider the circuit shown in Fig. P1.1 O. (a) _ rrent 

.6 The total charge qU) in some region is de­ Given i l = l.S A, find VI ' (b) Given i 2 = -4 A, find - circuit 
: :ribed by the function shown in Fig. P1.S. Sketch V2' (c) Given i3 = 5.5 A, find v 3.·(d) Given i4 = 3.5 

-"'-. G current i(t) in this region. A, find V4' (e) Given is = 3.5 A, find Vs. 
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Fig. P1.10 


